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Question Number : 1 Question Id : 347535151 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
‘Who was the first group leader of Rudri Nawagaon movement of 19307

Options:
1 % Pt Sundarlal Sharma

-~ » Narayan Rao Meghawale
5 % Shyamlal Som

4 « Babu Chhotelal Shrivastava

c % None of the other options

Question Number : 1 Question Id : 347535151 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 2 Question Id : 347535152 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
In 1933, Gandhi ji started second journey of Chhattisgarh in which month?

Options:
| % January

> % December
= « November

4 % August

= % September

Question Number : 2 Question Id : 347535152 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 3 Question Id : 347535153 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which party was established in Khairagarh in 19387

Options:

1 % Prakhar Prahari

-~ % Chani mouni party
- » Jagrit party

4 « SevaDal

= » None of the other options



Question Number : 3 Question Id : 347535153 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 4 Question Id : 347535154 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who was the founder of Vanar sena in Bilaspur?

Options:

1 % Diwakar karlikar

> o Vasudev Devras

- » Krantikumar Bhartiya
4 ® Gajadhar Sao

= % None of the other options

Question Number : 4 Question Id : 347535154 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 5 Question Id : 347535155 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1



In July 1946. the following leaders from Chhattisgarh (khalsa) were elected for Constituent Assembly of India:

Pt Ravishankar Shukla
Ghansyam Sing Gupta

Pt Kishori Mohan Tripathi
4. Thakur Chhedilal
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Question Number : 5 Question Id : 347535155 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 6 Question Id : 347535156 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who of the following was the only representative of Chhattisgarh in the Bombay session of Indian
National Congress in 18897

Options:
L% Madhav Rao Sapre

> « Waman Rao Lakhe

- % Narayan Rao Meghawale

4 % Yadav Rao Tamaskar

= % None of the other options



Question Number : 6 Question Id : 347535156 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 7 Question Id : 347535157 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who among the following was the first superintendent appointed in Chhattisgarh under the British

protection over the Bhonsle Kingdom of Nagpur?
Options:
1 Captain Edmund

5 % Major P. Vans Agnew
- % Captain Hunter
% Major Sandis

= » None of the other options

Question Number : 7 Question Id : 347535157 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
ARTR & e T T s @ & smaeia oedeee & Agea gus goaidse
=T § O FiF ar?

Options:

. x 3T TFedl H ¥ FE A

Question Number : 8 Question Id : 347535158 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1



In which district does the Surahi river flow?
Options:
1 % Kawardha

-  Rajnandgaon

z % Mahasamund
4 % Kanker

= % None of the other options

Question Number : 8 Question Id : 347535158 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 9 Question Id : 347535159 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to the census of 2011. what is the population density of the Chhattisgarh state?

Options:
, % 198

o> o 189
5 % 208
4 % 179

= » None of the other options

Question Number : 9 Question Id : 347535159 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 10 Question Id : 347535160 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

The highest waterfall of Chhattisgarh is situated in:
Options:

1 ®% Sukma

-  Jagdalpur

= % DBastar
4 = Koriya

= » None of the other options

Question Number : 10 Question Id : 347535160 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 11 Question Id : 347535161 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
In Chhattisgarh. which district has smallest number of development blocks?

Options:
1 % Dhamtari

-  Narayanpur
o % Durg
4 % Mungeli

= » None of the other options

Question Number : 11 Question Id : 347535161 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 12 Question Id : 347535162 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is known as mini Tibbet?

Options:
, % Samaripat

-  Mainpat

- % Jashpurpat

4 w Jarangpat

= % None of the other options

Question Number : 12 Question Id : 347535162 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

foaat@g § O #i9 oler Oeag #gaar 82
Options:

1 % Fﬁiqa
5 HeAUTE
ST

=
4 % SEIE
x 3T FFedl H & FIE F&r

5

Question Number : 13 Question Id : 347535163 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
At which of the following place Mama-Bhanja temple is situated?

Options:
 » Ratanpur

5 % Sirpur
= « DBarsoor

4 % Shiwarinarayan



= % None of the other options

Question Number : 13 Question Id : 347535163 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 14 Question Id : 347535164 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Out of the following. which type of climate Chhattisgarh has?

Options:
1 ® Hot

- % Moist
= « Hot and moist
4 ® VeIy dry

= % None of the other options

Question Number : 14 Question Id : 347535164 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 15 Question Id : 347535165 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the writer of the Chhattisgarhi novel “Diyana Ke Anjor™?



Options:
1 « Shiv Shankar Shukla

- % Pardeshi Ram Verma
3 # J. R. Soni

4 % Narayan Lal Parmar

= % None of the other options

Question Number : 15 Question Id : 347535165 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 16 Question Id : 347535166 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
‘When does the “Sua Dance™ perform?

Options:
1 ® Holi

> % Pola

% % Dashahara

» Dipawali

= % None of the other options

Question Number : 16 Question Id : 347535166 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 17 Question Id : 347535167 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

What is “Birya Dhol” (Mandar) of Bastar?
Options:
, % Ghan vadya (Idiophonic instrument)

- % Sushir vadya (Wind instrument)

-  Avanaddha vadya (Instrument covered with membrane)
4 % lat vadya (String instrument)

= % None of the other options

Question Number : 17 Question Id : 347535167 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 18 Question Id : 347535168 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who is “Gadhawa” shilpkar (Bell metal artist)?
Options:
| « Jaidev Baghel

> % Govind Ram Nirmalkar
- % Jhadoo Ram Dewangan
4 % Shrinivas Vishwakarama
= » None of the other options

Question Number : 18 Question Id : 347535168 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 19 Question Id : 347535169 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Where is the “Chandradityeshwar™ temple located?

Options:

| % Ratanpur

5 w Sirpur

= « Barsoor

4 % Tala

= % None of the other options

Question Number : 19 Question Id : 347535169 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 20 Question Id : 347535170 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Out of the following. which is not a scheduled tribe?

Options:
1 ®% Muria
- % Oraon

- % Majhawar

4 « Mallah



= % None of the other options

Question Number : 20 Question Id : 347535170 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 21 Question Id : 347535171 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who speaks “Kui Dialect™?

Options:
« Kondh

% Kamar

=

Korwa

e HL B
#

% Kanwar

= » None of the other options

Question Number : 21 Question Id : 347535171 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 22 Question Id : 347535172 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who make “Basketry” among the following scheduled tribe?

Options:



1 % Oraon
« Nagesia

« Kandra

L]

% Kanwar

e

% None of the other options

Question Number : 22 Question Id : 347535172 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 2 Wrong : 1
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Question Number : 23 Question Id : 347535173 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

What stand for “Parad™ of scheduled tribes of Bastar?
Options:

1 % Hill

» % Marriage
» Hunting
4 % Festival
% None of the other options

Question Number : 23 Question Id : 347535173 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 24 Question Id : 347535174 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
When is “Mati Tihar™ (Earth Festival) celebrated at Bastar?

Options:
1 « Chaitra

- % Ashadh
- % Bhado
4 % Kartik
= % None of the other options

Question Number : 24 Question Id : 347535174 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 25 Question Id : 347535175 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Out of the following scheduled tribe. who make “Hanal gatta™ (Memorial Pillar)?

Options:
1 ®% Kamar

-~ % Binjhwar

3z % Maina

4 +« Madia

= % None of the other options

Question Number : 25 Question Id : 347535175 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 26 Question Id : 347535176 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Out of the following scheduled tribes. who celebrate “Karma™ festival?

Options:

1 % Muria

> % Gadaba

= « Oraon

4 % Bhatara

= » None of the other options

Question Number : 26 Question Id : 347535176 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 27 Question Id : 347535177 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
What was the state gross domestic product of Chhattisgarh state for year 2013-14 at current prices?

Options:
1 #% Rs221756.85 crore

~ % Rs221776.35 crore
= o RS 185682.48 crore
4 % Rs 185987.39 crore

= % None of the other options

Question Number : 27 Question Id : 347535177 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 28 Question Id : 347535178 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
On which river Saradih barrage is constructed?

Options:
1 % Shivnath

> % Jonk

= « Mahanadi

4 % Kelo

= % None of the other options

Question Number : 28 Question Id : 347535178 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 29 Question Id : 347535179 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Suraj Dhara Scheme is related to which of the following in Chhattisgarh state?
Options:

1 % Production of Sunflower

5 of Exchange of seeds scheme

- » Bio-gas plant



4 % Production of mustard

= % None of the other options

Question Number : 29 Question Id : 347535179 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 30 Question Id : 347535180 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
How many forest project divisions are constituted in Chhattisgarh state?

Options:
1. 09

> % 34
z % 24
4. 07
= % None of the other options

Question Number : 30 Question Id : 347535180 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 31 Question Id : 347535181 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Soyabean crop. which is produced in Chhattisgarh state, is basically crop of which country?



Options:
| % Japan

> #% Pakistan
- = Nepal
4 « China

= » None of the other options

Question Number : 31 Question Id : 347535181 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 32 Question Id : 347535182 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which sector has estimated highest growth rate in Chhattisgarh for the year 2014-15 at constant prices?

Options:
, = Forestry

> o Storage

5 % Community & Personnel services

, » Banking

= % None of the other options

Question Number : 32 Question Id : 347535182 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 33 Question Id : 347535183 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who become the chairman of General Administration Committee of Janpad Panchayat?
Options:
, « President of Janpad Panchayat

- % vice President of Janpad Panchayat
- % Member elected by Janpad Panchayat
4 ® Member nominated by President of Janpad Panchayat

= % None of the other options

Question Number : 33 Question Id : 347535183 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 34 Question Id : 347535184 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Match the address of resignation:

L Panch A. Deputy Director (Panchayat)
II. Member Janpad/Zila B. Collector/Addl. Collector
Panchayat
IMI. Sarpanch C. President
IV. President Zila panchayat D. Sarpanch
V.  President Janpad Panchayat E. Divisional Commissioner/Additional
Commissioner
Options:

1 % I-FAIV-BII-C,II-D,V-E
- x I-ATM-B,V-CI-DIV-E
2 % Y-AI-BI-CIV-DII-E



g4 o M—ANV-BI-CI-DIV-E
c % I-A,I-B,V-CIV-D.III-E

Question Number : 34 Question Id : 347535184 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 35 Question Id : 347535185 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
What is correct about the security deposit for candidates contesting Panchayat election?

L Rs 40/- for Panch candidate
II.  Rs25/- for Panch women candidate
III. Rs 400/~ for Sarpanch candidate
IV. Rs 100/- for Sarpanch schedule tribe candidate
V.  Rs 500/- for member Janpad Panchayat candidate
VI.  Rs 200/- for member Janpad Panchayat schedule caste candidate
VII. Rs 1500/~ for member Zila Panchayat
VIII. Rs 500/- for member Zila Panchayat OBC candidate
Options:
, = L IL V, VII

, % IL IV, VI, VII
z % L IIL VI, VI
4 LIV, V, VIO

= % None of the other options

Question Number : 35 Question Id : 347535185 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



Correct: 2 Wrong: 1
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VIl. ==T J9Tag 85T 35HeEaT & ™ F® 1500/-
VIII. forar 9=mag ge=T 3fa9 3598ear & ™T & 500/-

Options:
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Question Number : 36 Question Id : 347535186 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is incorrect in the context of functions of Janpad Panchayat?

Options:
, w Integrated Rural Development

> % Tomanage Public markets & public melas
» Prepare annual plans for economic development and social justice
4 % Toprovide emergency relief from natural disaster

= % None of the other options

Question Number : 36 Question Id : 347535186 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
ST TS F FET F Tl H AOAfed ¥ ¥ FiT § HEr Far 87
Options:
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Question Number : 37 Question Id : 347535187 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
The salary and allowances to the members of Council of Ministers of the state is being given by:

Options:
1 % Reserve Bank of India

5  OState Treasury

- % Contingency fund of the sate

4 % Consolidated fund of the sate

= % None of the other options

Question Number : 37 Question Id : 347535187 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 38 Question Id : 347535188 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the administrative head of Chhattisgarh Rural Development Department?

Options:
| « Vikas Ayukta

> % Chief Executive Officer
= = Dy. Ayukta Vikas
4 % Chief Secretary

= % None of the other options

Question Number : 38 Question Id : 347535188 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 39 Question Id : 347535189 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

When was BALCO established?
Options:

1 o 24 Nov. 1965

5 ® 24 Nov. 1966
z ® 24 Nov. 1967
4 % 24 Nov. 1968

= % None of the other options

Question Number : 39 Question Id : 347535189 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

BALCO &1 9T & T 1ad?
Options:
, v 24 FIFET 1965

, % 24 FEFET 1966
. % 24 FEFET 1967
, % 24 FFFaT 1968
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Question Number : 40 Question Id : 347535190 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Where marble is found in Chhattisgarh?

Options:
1 « DBastar

- % Sarguja

- % Raipur



4 % Durg

= » None of the other options

Question Number : 40 Question Id : 347535190 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 41 Question Id : 347535191 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Where the first sugarcane industry in Chhattisgarh was established?

Options:
1 « Kawardha

» # Koriya
- = Raipur
4 % Durg

= % None of the other options

Question Number : 41 Question Id : 347535191 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 42 Question Id : 347535192 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1



In which of the following places in Chhattisgarh. hydro-power project does not exist?
Options:
1 « Dudhawa

-~ % Hasdev-Bango

- » Gangrel
4 % Pairi Sikasar

= » None of the other options

Question Number : 42 Question Id : 347535192 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 43 Question Id : 347535193 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Asia’s biggest Tamarind market is at:
Options:

1 % Kanker

-~ % Konta

z % Sukma

» Jagdalpur

= » None of the other options

Question Number : 43 Question Id : 347535193 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 44 Question Id : 347535194 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
In which district of Chhattisgarh. the Dagori Industrial Center is situated?

Options:

, w» Raigarh

> % Mahasmund
» Bilaspur

4 % DBastar

= » None of the other options

Question Number : 44 Question Id : 347535194 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 45 Question Id : 347535195 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which is the computer based teaching scheme for schools?

Options:
o LT

5 % CST,
S8 goe
4 % CTP

= % None of the other options

Question Number : 45 Question Id : 347535195 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 46 Question Id : 347535196 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is provided free of cost under ‘Saraswati’ scheme?

Options:
1 % Books

- % Uniform

Bicycle

L]
S

g

4 % Insurance
= % None of the other options

Question Number : 46 Question Id : 347535196 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 47 Question Id : 347535197 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
What is the duration of Grant Programme of European commission for support to school education in the state?

Options:
, % 2007 —2016

> % 2008 —2016
5 % 2009 —2016
4 % 2010—2016



=  None of the other options

Question Number : 47 Question Id : 347535197 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

, % 2007 - 2016
., % 2008 - 2016
. = 2009 - 2016
. % 2010 - 2016
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Question Number : 48 Question Id : 347535198 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Padmashree awardee artist Mamta Chandrakar works in which institution?
Options:

1 « All India Radio

- % Doordarshan
5 u College
4 = Culture dept.

= % None of the other options

Question Number : 48 Question Id : 347535198 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 49 Question Id : 347535199 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
From which district the Rurban mission was started in Chhattisgarh?

Options:



» Raipur

» Rajnandgaon
% Bilaspur

4 % Kabirdham

% None of the other options

Question Number : 49 Question Id : 347535199 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

mﬁmﬁmmmmﬁmﬁﬁﬁ'@m

Options:

T

s & . |
o o T ;;;;'aa C
IELCIE:LES

e =
4_$$mm
o 3o PrEedt F ¥ a8

5

Question Number : 50 Question Id : 347535200 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

‘When the eye donation fortnight organised every year in the Chhattisgarh?
Options:

1w 25 August to 8 September
5 % 1 May to 15 May

= % 15 June to 30 June

4 % 25 October to 8 November

= % None of the other options

Question Number : 50 Question Id : 347535200 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Elective Subject

Group Maximum Duration : 120

Group Minimum Duration : 120

Revisit allowed for view?: No

Revisit allowed for edit?: No

SoCiology

Mandatory or Optional: Mandatory
Display Number Panel: Yes
Group All Questions: No

Question Number : 51 Question Id : 347535201 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who said, ‘The subject matter of every sociological study should comprise a group of phenomena defined in advance by
certain common external characteristics. and all phenomena so defined should be included within this group’?

Options:
1 % Max Weber

- % Harold Garfinkel
5 w Margaret Mead
4 « Emile Durkheim

c % Herbert Spencer

Question Number : 51 Question Id : 347535201 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 52 Question Id : 347535202 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who said, “It is clear that a condition can be defined as pathological only in relation to a
given species. The conditions of health and morbidity cannot be defined in the abstract and
absolutely™?

Options:
1 % Malthus

» % Sigmund Freud
3 « Emile Durkheim
4 % Karl Marx

% J. Thomson

Question Number : 52 Question Id : 347535202 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 53 Question Id : 347535203 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Whose view is this: “Sociology is a special social science concentrating on inter-human

behavior on processes of sociation. on association and dissociation as such™?
Options:
1 Leopold von Wiese

> % Simmel

= % Ferdinand Tonnies
4 % M. Ginsberg

= % L.F. Ward

Question Number : 53 Question Id : 347535203 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 54 Question Id : 347535204 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

According to whom. “Sociology of Knowledge is the relationship between empirical. socio-
historical circumstances and knowledge. .. particularly intellectual knowledge. ideas. beliefs.
morality. and ideology™?

Options:
1 % Emile Drukheim

-~ % Karl Popper

= « Karl Mannheim
4 % Wilhelm Dilthey

s % Lewis A. Coser

Question Number : 54 Question Id : 347535204 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 55 Question Id : 347535205 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who said that ‘Sociation” always involves harmony and conflict, attraction and repulsion.
love and hatred?

Options:

1 George Simmel
- % T. B. Bottomore

= ® Herbert Spencer
, % Raymond Aron

c % Lewis A. Coser

Question Number : 55 Question Id : 347535205 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 56 Question Id : 347535206 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is associated with the concept Ideational Culture. Sensate culture. Idealistic Culture?

Options:

1 + Pitirim Sorokin
% Karl Marx

% Max Weber

% Karl Mannheim

M - BT D

% Talcott Parson

Question Number : 56 Question Id : 347535206 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 57 Question Id : 347535207 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the author of ‘The New Sociological Imagination’?

Options:
1 # Robert Nisbert
> « Steve Fuller

- % C. Wright Mills

4 = BillLynch

¢ % Nico Stehr

Question Number : 57 Question Id : 347535207 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 58 Question Id : 347535208 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who said. “Natural selection is thus merely the description of a process. and a rough and ready process at that. It is not a

force. it is not a cause. it does not produce anything new. It is only a ‘non-energetic factor” of evolution™?
Options:

| % Radhakamal Mukherjee

-  D.P. Mukharjee
- % D.P. Chottopadhya
« Ram Krishna Mukherjee

5 % L P.Desai



Question Number : 58 Question Id : 347535208 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 59 Question Id : 347535209 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who is the author of ‘Professional Ethics and Civic Morals’?
Options:

1 % Karl Marx

> « Emile Durkheim

= % Max Weber
4 » Radcliffe Brown

5 % Talcott Parsons

Question Number : 59 Question Id : 347535209 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 60 Question Id : 347535210 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is associated with ‘Theory of Technological Determinism’?

Options:

1 % Karl Marx
> « T. Veblen

3 % M. Weber

4 % P. A Sorokin
z % R.Bendix

Question Number : 60 Question Id : 347535210 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 61 Question Id : 347535211 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who said that Religion is “a unified system of beliefs and practices relative to sacred things,
that is to say, things set apart and forbidden—Dbeliefs and practices which unite into a single
moral community called a Church. all those who adhere to them.”?

Options:
1 ®% J.G. Frazer

> « Emile Durkheim

3 % R.H.Lowie
% A.R.Radcliffe Brown

o

c % B. Malinowski

Question Number : 61 Question Id : 347535211 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 62 Question Id : 347535212 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
The notion of ‘social evolution® was directly taken from the theories of

Options:
, = geological evolution

- % physical evolution
- % zoological evolution
4 « Dbiological evolution

c # chemical evolution

Question Number : 62 Question Id : 347535212 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 63 Question Id : 347535213 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



Correct: 2 Wrong: 1
Who is the author of ‘Pedagogy of the Oppressed’?

Options:

, » Karl Popper

- « Paulo Freire

% % James Thomson
4 % Karl Mannheim

c % John Urry

Question Number : 63 Question Id : 347535213 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 64 Question Id : 347535214 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the author of "The Interpretation of Cultures™

Options:
1 « Clifford Geertz

> % Jean Baudrillard
= % DBruno Latour
4 % E.O. Wilson
= % Luce Irigaray

Question Number : 64 Question Id : 347535214 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 65 Question Id : 347535215 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the author of ‘The Sociological Imagination’?

Options:
, = Karl Popper

> % Thomas Kuhn

=  C. Wright Mills

4 % Karl Mannheim

c % Karl Marx

Question Number : 65 Question Id : 347535215 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 66 Question Id : 347535216 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the author of “The Coming Crisis of Western Sociology'?

Options:
1 « Alvin W. Gouldner

- % Frantz Fanon

= % Shulamith Firestone
4 % Michel Foucault

c % Harold Garfinkel

Question Number : 66 Question Id : 347535216 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 67 Question Id : 347535217 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Whose work is associated with ‘The Bourgeois Public Sphere'?

Options:

1 % DBruno Latour
> % E.O. Wilson
5 % Luce Irigaray

» Jurgan Habermas

= % Mary Douglas

Question Number : 67 Question Id : 347535217 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 68 Question Id : 347535218 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
is spending of money on and acquiring of luxury goods and services to publicly displayed economic power
either the buyer’s income or the buyer’s accumulated wealth.

Options:
| % Status consumption

-  Conspicuous consumption



- % Class consumption

, % Power consumption

c % Spiritual consumption

Question Number : 68 Question Id : 347535218 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 69 Question Id : 347535219 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the author of ‘Radical Hope™?

Options:
1 % Frantz Fanon

- % Karl Marx
5 « Jonathan Lear
4 % Max Weber

c % Immanue] Kant

Question Number : 69 Question Id : 347535219 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 70 Question Id : 347535220 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who is the Author of ‘Liquid Love: On the Frailty of Human Bonds’?
Options:
| « Zyzmunt Bauman

-~ % Martin Heidegger

- % Kingslay Davis

4 % Arjun Apadurai

= » Gayatri Spivak

Question Number : 70 Question Id : 347535220 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 71 Question Id : 347535221 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who was the first sociologist use the term ‘social structure’?

Options:
L % A.R.Radcliffe Brown

5 of H. Spencer
3 % R.Firth

4 % E.Durkheim
= % M. Ginsberg

Question Number : 71 Question Id : 347535221 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 72 Question Id : 347535222 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Ethos and Eidos concepts are given by:
Options:

1 % Malinowski

- » Radcliffe Brown

-2

# Kluckhohn

A

4 « Kroeber

# Linton

'

Question Number : 72 Question Id : 347535222 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 73 Question Id : 347535223 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which theories regard delinquent behavior as the consequence of strains or break-downs in the social processes that
produce conformity?

Options:
1 « Structural-functional

> % Conflict

5 % Evolutionary

4 % Cultural



= % Phenomenological

Question Number : 73 Question Id : 347535223 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 74 Question Id : 347535224 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the author of the ‘A Cultural Pattern and Technological Change’?

Options:
1 % H.S. Maine

5 % L. H. Morgan

=z % R.R. Marret
4 % G.P Murdock
5 « M. Mead

Question Number : 74 Question Id : 347535224 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 75 Question Id : 347535225 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
‘Who is the author of ‘A Scientific Theory of Culture’?



Options:
1 % T.K.Peniman

5 % Radcliffe Brown
= « Brownislaw Mallinowski
4 % Emile Durkheim

c % James Frazer

Question Number : 75 Question Id : 347535225 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 76 Question Id : 347535226 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Redcliff Brown has taken the concept of ‘function” from
Options:

1 % Economics

-  Biology

5 % Botany

4 ® Zoology

c % Physics

Question Number : 76 Question Id : 347535226 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 77 Question Id : 347535227 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Identify the author who said “*Social structure is a term applied to the particular arrangement
of interrelated institutions. agencies and social patterns as well as status and roles which each
person assumes in the group.”

Options:

, % M. Ginsberg

5 % R. M. Maclver and C. H. Page

= # E.RNadal
4 « Talcott Parsons

c % Mayer Fortes

Question Number : 77 Question Id : 347535227 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 78 Question Id : 347535228 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who made a study on "The Nuer of Africa’™?

Options:
| % Mayer Fortes

> « Evans-Pritchard
= % S.F. Nadal
4 % Levis Struss

s # R.H.Lowie



Question Number : 78 Question Id : 347535228 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 79 Question Id : 347535229 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Culture has been defined by Marett as

Options:
,  communicable intelligence

> % instrumental
% % humanistic
, % amplifier

c % aesthetic

Question Number : 79 Question Id : 347535229 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

T ZaRT TPl Fr aieT & T H & E B

Options:

L T
o % Heldeh

- % HAFERD

4 FEUH
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Question Number : 80 Question Id : 347535230 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the author of ‘Houses and House-life of the American Aborigines™?
Options:

1w L. H. Morgan

> % B. Malinowski



=z % R.R. Marret
4 % R. Linton
c % S.F. Nadal

Question Number : 80 Question Id : 347535230 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 81 Question Id : 347535231 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
‘Who is the author of ‘A Natural Science of Society?’

Options:
1 # W.H. R.Rivers

> « A, R. Radcliffe-Brown
% E. Sapir
% E.W. Taylor

e

# R.Lewis

tn

Question Number : 81 Question Id : 347535231 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
T AR WEeH A WHEE &F FT&F Pl 87

Options:
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Question Number : 82 Question Id : 347535232 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



Correct: 2 Wrong: 1

According to the principle of . the relations that define the economic system. and the institutions of politics and
the law. as well as the dominant forms of social consciousness. are all ultimately determined by the requirements of the
productive forces. which consist of means of production and human labour power.

Options:
1 « historical materialism

-~ % political economy
5 % capital
4 % class

5 % caste

Question Number : 82 Question Id : 347535232 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 83 Question Id : 347535233 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Communist manifesto was published in the year

Options:
| % 1846

s 1847
o 1848
% 1849
# 1850

LI

Question Number : 83 Question Id : 347535233 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

| % 1846
, % 1847
5 « 1848
. % 1849
= » 1850

Question Number : 84 Question Id : 347535234 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who argued that classes in the advanced ‘post-capitalist’ societies were derived from positions in associations
coordinated by authority?

Options:
1 #® L. Coser

- # R. Collins
= # Karl Marx
4 # C. Wright Mills

5 « Ralf Dahrendorf

Question Number : 84 Question Id : 347535234 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 85 Question Id : 347535235 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who among the following, saw the social conflict as a process of tension management?

Options:
1 ® V.I.Lenin

> % L. Althusser
= « Levis Coser
4 % A.R. Desai



c % Ferdinand Tonnies

Question Number : 85 Question Id : 347535235 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 86 Question Id : 347535236 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who said, “...Ideological State Apparatuses a certain number of realities which present themselves to the immediate
observer in the form of distinct and specialized institutions™?

Options:
1 % Karl Marx

Jacques Lacan
= « Louis Althusser
4 # George G Lukas

5 % Herbert Marcuse

Question Number : 86 Question Id : 347535236 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 87 Question Id : 347535237 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who is the author of *One-Dimensional Man’?
Options:

1 % T. W. Adormo

> « Herbert Marcuse
= % Thomas Kuhn
4 % Herbert Blumer

c % Herbert Spencer

Question Number : 87 Question Id : 347535237 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 88 Question Id : 347535238 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Whose work is associated with “The Culture Industries’?
Options:

, % Margaret Mead

> « 1. W. Adorno
3 % Max Weber
4 % Daniel Bell

e ® John Thompson

Question Number : 88 Question Id : 347535238 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 89 Question Id : 347535239 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Parsons’” premises for his general theory of action contained among others an argument for the necessity for an action
theory to be based on:

Options:
1 « voluntaristic foundation

> % social conditions
= % historical roots

4 % cultural moorings

= » collective memory

Question Number : 89 Question Id : 347535239 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 90 Question Id : 347535240 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

According to whom “Society is always governed by a small number of men, by an elite. even when it seems to have a
completely democratic organization™?

Options:
1 % Pitirim Sorokin

- % Karl Marx
= « Vilfredo Pareto
4 = C. Wright Mills



c % Talcott Parsons

Question Number : 90 Question Id : 347535240 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 91 Question Id : 347535241 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
‘Who is the author of ‘Man and Society™?

Options:
1 % K.Mannheim

> « V. Pareto

% Raymond Aron

« C.Bougle

e

= % T.B. Bottomore

Question Number : 91 Question Id : 347535241 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 92 Question Id : 347535242 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1



Who said. "symbolic interactionism sees meanings as social products. as creations that are formed in and through the
defining activities of people as they interact™?
Options:

1% Herbert Spencer

> #% Herbert Marcuse
z % Alferd Schultz
4 « Herbert Blumer

% Ronald Barth

Question Number : 92 Question Id : 347535242 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 93 Question Id : 347535243 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

According to Alfred Schultz. man’s fundamental and paramount reality is:
Options:
, « theworld of everyday life

- % his immediate surroundings
« the symbols that he uses to communicate
4 % meanings involved in his interaction

= % always incomprehensible

Question Number : 93 Question Id : 347535243 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 94 Question Id : 347535244 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to Alfred Schultz. the world. the physical as well as the sociocultural one, is
experienced from the outset in terms of:

Options:
, % Symbols

> % codes
- % Signs
4 % Ineanings

s v topes

Question Number : 94 Question Id : 347535244 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 95 Question Id : 347535245 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

According to Berger and Luckmann. “social order—both in terms of its genesis and existence —is:
Options:

, w asocial product



- % aresult of social interaction

5 % acultural product
4 « anongoing human production

= % a psychological construct

Question Number : 95 Question Id : 347535245 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 96 Question Id : 347535246 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to Garfinkel. ethnomethodology is concerned with

Options:

, w everyday inferaction

-  immortal. ordinary society
- % individual behaviour is social groups

4 % study of human consciousness

= » theway culture influences human beings

Question Number : 96 Question Id : 347535246 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 97 Question Id : 347535247 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to Giddens’ theory of structuration:

Options:
1 % structure determines action

- % structure does not determine action
3 o structure does not determine action or vice versa

4 % action reproduces structure

= » structure is always in the making

Question Number : 97 Question Id : 347535247 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 98 Question Id : 347535248 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the author of ‘Modernity and the Holocaust'?

Options:
1 % Louis Althusser

> % Roland Barthes
=z % Jean Baudrillard

4 Zygmunt Bauman

c % Siumone de Beauvoir

Question Number : 98 Question Id : 347535248 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 99 Question Id : 347535249 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to Bourdieu. habitus is bound up with

Options:
, = the everyday experience of the individual

- % theindividual’s stock of knowledge
-  the structure and history of a field
4 = theindividual’s class position

s # the individual’s culture

Question Number : 99 Question Id : 347535249 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 100 Question Id : 347535250 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to whom, structure constitutive of particular environment produces habitus?

Options:

1 % Judith Butler

- % Manuel Castells
= % Randall Collins
4 % Gilles Deleuze
5

« Pierre Bourdieu



Question Number : 100 Question Id : 347535250 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 101 Question Id : 347535251 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Bourdieu’s theory of practice is primarily focused on:
Options:

, % Treconciling theory and action

» % aprogressive theory of social action

- % franscending fact-value dichotomy

4 « Overcoming the opposition between objectivism and subjectivism

= » understanding cultural capital

Question Number : 101 Question Id : 347535251 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 102 Question Id : 347535252 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Baudrillard’s conception of postmodernity is founded upon three principle ideas which are:

Options:



» Simulation. implosion and hyperreality
« simulation, hyperreality and discourse
- % simulation, hyperreality and power

4 = simulation. hyperreality and ideology

= % simulation. hyperreality and genealogy

Question Number : 102 Question Id : 347535252 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 103 Question Id : 347535253 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

In “Madness and Civilisation”, Michel Foucault argues that reason is:
Options:

, % theultimate language of civilization

-  theultimate language of madness

- % afalse consciousness that entraps the civilised man
4, % the yardstick of civilization
= % inanunholy alliance with power

Question Number : 103 Question Id : 347535253 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 104 Question 1d : 347535254 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who said. “Sexuality must not be described as a stubborn drive, by nature alien and of necessity disobedient to a power
which exhausts itself trying to subdue it and often fails to control entirely. It appears rather as an especially dense
transfer point for relations of power: between man and women..."?

Options:
1 % Roland Barthes
> % Jean Baudrillard

o % Zygmunt Bauman

4 +« Michel Foucault

c % Stephen Lukes

Question Number : 104 Question Id : 347535254 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 105 Question Id : 347535255 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who is the author of ‘Postimodern Conditions™?
Options:

1 % Jean Baudrillard

5 % Zygmunt Bauman

= % Michel Foucault



4 % Martin Heidegger

=  Jean Francois Lyotard

Question Number : 105 Question Id : 347535255 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

| % S ATEeers

[ ¥ wr
o % ToI9AC d1HA

£

HTSehol Hehloc

L, HTCT EEIR
ST harsg =Oes

5 o

Question Number : 106 Question Id : 347535256 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to G. S. Ghurye. whoever wants to do sociology of India in particular must have a thorough grounding in:

Options:
1 % Traditions of India

- w Classical scriptures

= « Sanskrit literature
4 % Scientific method

= » Comparative method

Question Number : 106 Question Id : 347535256 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 107 Question Id : 347535257 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

According to Ghurye, in order to get a sociologically correct idea of the institution of caste, we should recognise sub-
castes as:

Options:
1 % reflection of Hindu social order

-~ % changing version of castes

= % modern version of castes
4 « real castes

c # local versions of castes

Question Number : 107 Question Id : 347535257 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 108 Question Id : 347535258 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Irawati Karve characterises Hindu society as:
Options:

1 % Traditional

> % Modem
-  Agglomerative
4 % Static

c % Semi-feudal

Question Number : 108 Question Id : 347535258 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 109 Question Id : 347535259 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
K. M. Kapadia believes that change in the behaviour pattern between the two generations is likely to:

Options:

| « strengthen the emotional links between the members of the family

> w Weaken the family ties
- % leadto a move from joint families to nuclear families
4, % dismantle patriarchal authority structures

= » facilitate emergence of competing authorities

Question Number : 109 Question Id : 347535259 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 110 Question Id : 347535260 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who among the following is known for synthesizing the textual and field view of India society?

Options:
1 « Irawati Karve

- % A.R. Desai

- % D.N.Dhanagare



4 % T. K. Oommen

s % L P Desai.

Question Number : 110 Question Id : 347535260 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 111 Question Id : 347535261 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

S. C. Dube believes that Indian village is:
Options:
, w aself-contained little republic

- Dot a self-contained little republic

- » fundamental aspect of Indian social life

4 % sites of traditional authority

= % acorporate group

Question Number : 111 Question Id : 347535261 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 112 Question 1d : 347535262 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



‘Who said. “A caste may be defined as a collection of families or groups of families bearing a common name which

usually denotes or is associated with specific occupation. claiming common descent from a mythical ancestor. human or
divine. professing to follow the same professional, calling and are regarded by those who are competent to give an

opinion as forming a single homogenous community”?
Options:
1 % B.R. Ambedkar

o o Sir. H. Risley
= % M. N. Srinivas
4 = Y.Singh

= % D.P. Mukherjee

Question Number : 112 Question Id : 347535262 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 113 Question Id : 347535263 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to S. C. Dube, in the Hindu social system. Varna is:

Options:
, « only areference category

> % afunctioning unit of social structure

- % animportant frame to understand the functioning of caste
» insignificant to understand the functioning of caste

c % something that has a recent origin

Question Number : 113 Question Id : 347535263 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
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Question Number : 114 Question 1d : 347535264 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
M. N. Srinivas used the concepts Sanskritisation and Westernisation to explain some features of:

Options:
, % social change in modern India

- % social and political change in India
- % cultural change in India

4 « religious. cultural and social change in India

= % ideological change in India

Question Number : 114 Question 1d : 347535264 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 115 Question Id : 347535265 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The family which one helps to set up after one’s marriage is called the

Options:



, w family of origin
» Tamily of procreation
5 » family of orientation
% Pprimary family

conjugal family

il
®

Question Number : 115 Question Id : 347535265 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 116 Question Id : 347535266 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Khasi tribes traces their descent from

Options:
, w mythical male ancestresses
> % real female ancestresses

mythical female ancestresses

L
%

4 % real male ancestors
c % artificial female ancestresses

Question Number : 116 Question Id : 347535266 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

GrET A 9T 3c9Ted fohEd ATl 27

Options:

I e S CE R

[~ Y L R 4 ;ﬁ-
5 ® dl&dlden Algall "-Lﬁlaﬂ

. o WO e TEE @
, x TEAEE TR TEE ®



. TR AfgeT @ W

Question Number : 117 Question Id : 347535267 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
If a nucleus of blood relatives is surrounded by a fringe of spouses, the resultant group is called a

Options:
. w extended family

- % primary family

- » conjugal Family

4  consanguineous family

c % immediate family

Question Number : 117 Question Id : 347535267 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 118 Question 1d : 347535268 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Suttee was declared illegal in

Options:
1« 1829

- % 1832
- % 1843
4 % 1850
c ® 1857

Question Number : 118 Question Id : 347535268 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

| v 1829
, % 1832
s % 1843
. % 1850
c % 1857

Question Number : 119 Question Id : 347535269 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the author of ‘Exile and the Kingdom: Some Thoughts on the Ramayana (1978)'7

Options:

, % G.S. Ghurye
- % D.D. Kosambi
= % Lous Dumont

» Romila Thapar

= % M. N. Srinivas

Question Number : 119 Question Id : 347535269 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
‘THFETE UT & fFeEA; §F oieg He & THIT (1978) ¥ FAE@H Fi &7
Options:
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Question Number : 120 Question Id : 347535270 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the author of ‘India through Hindu Categories’?

Options:

1+« McKim Marriott
> # P.N.Prabhu

- % Y.Singh
4 % S.C.Debe

c % David Hardiman



Question Number : 120 Question Id : 347535270 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

. v HFEE JAfge

9. U, 93
2_%3 2

s » SHE FEH

Question Number : 121 Question Id : 347535271 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is associated with civilizational approach to study Indian society?

Options:
1 % A.R. Desai

> « N.K.Bose
z % Andre Betelle

% M. N. Srinivas

A

% David Hardiman

'

Question Number : 121 Question Id : 347535271 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 122 Question Id : 347535272 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who said, “There is a good case for arguing that caste-consciousness and organization have increased in modern India.
Witness for instances the proliferation of caste banks. hostels. co-operative societies. charities, marriage halls.
conferences and journals in Indian towns’?

Options:



1 % B.R. Ambedkar
> % T.N. Madan

2 % R.K. Jain

4 = Y.Singh

_« M. N. Srinivas

Ln

Question Number : 122 Question Id : 347535272 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 123 Question Id : 347535273 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to N. K. Bose. the caste-system is founded on the basis of:

Options:

1« productive organization
- % nitual hierarchy

= % isolation

4 % racial affinity

= % purity-pollution dichotomy

Question Number : 123 Question Id : 347535273 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
U, &. 99 & HJER, FAa-aEdT H T T AR | g‘é g2

Options:

| 3cdigeh EEIET
| SHS TR Tl Tergsst
5w Eaal



4 % TAET FHA

o x YEAT-SEEUT T

-

Question Number : 124 Question Id : 347535274 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
S. C. Dube believes that linguistic diversity in India contributes to:

Options:

, w» smooth language planning

> « collective identities and even to conflicts
5 % conflicts

, % lingua franca of the country

= % hegemony of a language

Question Number : 124 Question Id : 347535274 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 125 Question Id : 347535275 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In castes in India. Ambedkar argues that creation of caste means:
Options:

| « superimposition of endogamy over exogamy

- % exclusiveness on the basis of a religious injunction

- % mutual repulsion

4 % segregated groups

= % ascribed inequality

Question Number : 125 Question Id : 347535275 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 126 Question Id : 347535276 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

‘Who said. “What is worse is that these servility and bar to human intercourse. due to their untouchability. involve not
merely the possibility of discrimination in public life. but actually work out as a positive denial of all equality of
opportunity and the denial of those most elementary of civic rights on which all human existent depend™?

Options:
1 % Gail Omvedt

5 % Gopal Gurn

z % DML N. Srinivas
4 « B.R. Ambedkar
c & G.S.Ghurye

Question Number : 126 Question Id : 347535276 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 127 Question Id : 347535277 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
‘Which article of Constitution of India says about and also categorically states - untouchability stands abolished and that
its practice in any form is forbidden?

Options:
1 ® Article 16

> o Artticle 17
3z % Article 18
4 % Article 19
5 % Article 20

Question Number : 127 Question Id : 347535277 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

AT & WU & Sl W HJeoq HERIAT & T H FgaT § 3R Tear@s
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Question Number : 128 Question Id : 347535278 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The constitutional obligation of the government to promote the welfare of the OBCs falls under the following articles:

Options:
. = 340(1). 340(2) and 16(1)

- % 340(1). 340(2) and 16 (2)
- % 340(1). 340(2) and 16 (3)
4 340(1). 340(2) and 16 (4)
= % 340(1). 340(2) and 16 (5)

Question Number : 128 Question Id : 347535278 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

| % 340(1), 340(2) 3R 16(1)
, « 340(1), 340(2) 3R 16(2)
. » 340(1), 340(2) 3R 16(3)
, v 340(1), 340(2) 3K 16(4)
-« 340(1), 340(2) 3R 16(5)

Question Number : 129 Question Id : 347535279 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which article of Constitution of India states Protection of interests of minorities?
Options:

1 ® Article 28

> o Article 29
= % Article 30
4 % Article 31

c % Article 32

Question Number : 129 Question Id : 347535279 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 130 Question Id : 347535280 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which article of Constitution of India states Representation of the Anglo-Indian community in the House of the People?

Options:
1 « Article 330



- % Article 332
5 % Article 334
4 % Article 336
5 % Article 338

Question Number : 130 Question Id : 347535280 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

| o FIRT 330
L x HTRE 332
.y 3IRT 334
, » FIeOE 336
_ 30T 338

Question Number : 131 Question Id : 347535281 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The real implications and significance of regionalism within a country could be assessed properly only through:
Options:

| % Aamaimstream perspective

-  a peripheral perspective

- » atransnational perspective
4 % civil society perspective

c % national security perspective

Question Number : 131 Question Id : 347535281 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 132 Question Id : 347535282 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In India, the problem of national integration is generally perceived in terms of:

Options:
, % aspirations of separatist groups

- % threat posed by terrorist groups
» existence of regional sentunents
» the role and aspirations of the different minority groups

c w communally charged sensibilities

Question Number : 132 Question Id : 347535282 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 133 Question Id : 347535283 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to Louis Dumont. it is clear that impurity of the untouchable is:

Options:
, = aresult of Brahminical psyche

> w aresult of ritualistic understanding of hierarchy

= % amental construct

conceptually inseparable from the purity of the Brahmins

= % has myriad manifestations

Question Number : 133 Question Id : 347535283 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 134 Question Id : 347535284 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Scheduled Castes is used as an official label because if their caste is listed on the government schedule:

Options:

. % caste members enjoy privileges
-  Ccaste members become eligible for a number of affirmative action benefits and protections
» caste members remain under the protection of the state

4 % caste members gain a certain identity

= % caste members have opportunities available to them

Question Number : 134 Question Id : 347535284 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 135 Question 1d : 347535285 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Missionary activities and propaganda by organisations such as RSS and VHP in the tribal society have created:
Options:

, % ecnmity between different tribal groups

- % alienation of the tribes from the mainstream

- % favourable circumstances for tribals’ integration into the mainstream



4 « great confusion and conflict for them

= % progressive and enlightened fractions within their society

Question Number : 135 Question Id : 347535285 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 136 Question Id : 347535286 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to Bipan Chandra. communalism is an ideology and ideology in this context means:

Options:
, % Violence driven mentality

- % Iideas driven by a value system
» Dbelief system based on certain assumptions regarding society. economy and polity
4, % distorted understanding

c % culturally determined stereotypes

Question Number : 136 Question Id : 347535286 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 137 Question Id : 347535287 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Caste Disabilities Removal Act was passed in the year of

Options:
;. % 1829

- % 1832
- % 1843
4 « 1850
c % 1857

Question Number : 137 Question Id : 347535287 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

g e Tsewa 3Ty &y 3§ aig & e

Options:

| % 1829
o % 1832
s = 1843
. v 1850
c % 1857

Question Number : 138 Question Id : 347535288 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which article provides for the grant of special finds by Union Government to state
governments for promoting the welfare of the Schedule Tribes and for providing them with a
better administration?
Options:

1 « Article 275
% Article 325
% Article 164
% Article 335

# Article 339

M e HE D

Question Number : 138 Question Id : 347535288 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 139 Question Id : 347535289 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who among the following use the dialectical materialist approach to study modern science?

Options:
1 % Thomas Kuhn

» % Karl Popper
= « J. D Bernal
4 % Karl Marx

c % Steve Fuller

Question Number : 139 Question Id : 347535289 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 140 Question Id : 347535290 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is associated with NORMAL SCIENCE AS PUZZLE-SOLVING?



Options:
1 « Thomas S. Kuhn

-~ % Karl Popper
z % David Hardiman
4 % Steve Fuller
c % Paul Feyerabend

Question Number : 140 Question Id : 347535290 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 141 Question Id : 347535291 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who. among the following. observed that “It was part of this ‘double vision’ that Nehru...and the Indian state began to
build science as a major source of justification for the India state as well as for their political dominance™?

Options:
1 % H.J. Bhabha

- % Veena Das

5 % Deepak Kumar

4  Ashis Nandy

= % Sunderlal Bahuguna

Question Number : 141 Question Id : 347535291 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 142 Question Id : 347535292 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The Indian Institutes of Technology was inaugurated on 18 August 1951 at Kharagpur by:

Options:

1 # Jawaharlal Nehru

> % Sardar Patel

= « Maulana Abul Kalam Azad
4 % Sarojini Naidu

= % Homi J. Bhabha

Question Number : 142 Question 1d : 347535292 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 143 Question Id : 347535293 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The first major study of public health in British India. It covers many previously unresearched areas such as European
attitudes toward India and its inhabitants. and the way in which these were reflected in medical literature and medical
policy: the fate of public health at the local level under Indian control: and the effects of quarantine on colonial trade
and the pilgrimage to Mecca. is done by

Options:
1 « Mark Harrison
o % Bryan M. Turner

3 % Austin Porterfield



4 % Robert Straus’s
c » Reid Margaret

Question Number : 143 Question Id : 347535293 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 144 Question 1d : 347535294 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
‘Who is the author of ‘The Information Age: Economy. Society and Culture™?

Options:
1 % Judith Butler

> « Manuel Castells
= % Randall Collins
4 % Gilles Deleuze
= % Mary Douglas

Question Number : 144 Question 1d : 347535294 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 145 Question Id : 347535295 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which German sociologist argues that “Technology. created a new form of modernity that inherently involved more
risk. or uncertainty, than the more rational Industrial Age™?

Options:
1 % Nico Stehr

> « Ulrich Beck
z % Max Weber

4 % Jurgan Habermas

= % Daniel Lavy

Question Number : 145 Question Id : 347535295 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 146 Question Id : 347535296 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

As a crific of globalization who made the following statement, “Ideological celebration of so called globalization is in
reality the swan song of our historical system™?

Options:
1 % Jean Bourdrillard

- % Manuel Castells

3 « Immanuel Wallerstein
4 % Daniel Bell

- w Karl Popper



Question Number : 146 Question Id : 347535296 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 147 Question Id : 347535297 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who argued for a sociology of globalization that incorporates political economy and so power. inequality and conflict?

Options:
1 % Ernest Gellner

- % M. Foucault
= « P Bourdieu
% Daniel Bell

P

% Jurgen Habermas

'

Question Number : 147 Question Id : 347535297 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 148 Question Id : 347535298 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



Liberalisation means:

Options:

, « Free market economy with minimal state control and greater freedom to private enterprise.
> % Giving complete freedom to foreign companies.

- » Giving complete freedom to India Private companies.
4 % Giving freedom to feudal economy.

= % Controlling women.

Question Number : 148 Question Id : 347535298 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 149 Question Id : 347535299 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Tenth WTO Ministerial Conference was held in

Options:

1 % India

5  Ienya
5 % Ireland
4 % USA
s 8 UK

Question Number : 149 Question Id : 347535299 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 150 Question Id : 347535300 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which country have been added as 164 member in WTO?

Options:
i ® India

» Afghanistan
% SriLanka

% Pakistan

i

c % Bhutan

Question Number : 150 Question Id : 347535300 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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